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QUESTION 1

An administrator is tasked with configuring certificates for a VMware software-defined data center (SDDC) based on the
following requirements: 

All certificates should use certificates trusted by the Enterprise Certificate Authority (CA). 

The solution should minimize the ongoing management overhead of replacing certificates. 

Which three actions should the administrator take to ensure that the solution meets corporate policy? (Choose three.) 

A. Replace the VMware Certificate Authority (VMCA) certificate with a self-signed certificate generated from the 

B. Replace the machine SSL certificates with custom certificates generated from the Enterprise CA. 

C. Replace the machine SSL certificates with trusted certificates generated from the VMware Certificate Authority
(VMCA). 

D. Replace the VMware Certificate Authority (VMCA) certificate with a custom certificate generated from the Enterprise
CA. 

E. Replace the solution user certificates wife custom certificates generated from the Enterprise CA. 

F. Replace the solution user certificates with trusted certificates generated from the VMware Certificate Authority
(VMCA). 

Correct Answer: BDE 

Explanation: Option B, D and E are correct because they allow the administrator to replace the machine SSL
certificates, the VMware Certificate Authority (VMCA) certificate and the solution user certificates with custom
certificates generated 

from the Enterprise CA, which will ensure that all certificates are trusted by the Enterprise CA and minimize the ongoing
management overhead of replacing certificates. Option A is incorrect because replacing the VMCA certificate with a
self-

signed certificate generated from the VMCA will not ensure that the certificate is trusted by the Enterprise CA. Option C
is incorrect because replacing the machine SSL certificates with trusted certificates generated from the VMCA will not 

ensure that the certificates are trusted by the Enterprise CA. Option F is incorrect because replacing the solution user
certificates with trusted certificates generated from the VMCA will not ensure that the certificates are trusted by the 

Enterprise CA. 

References: 

https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.security.doc/GUID-A2A4371A-B888-404C-
B23F- C422A8C40F54.html 

 

QUESTION 2

An administrator adds an additional host to a cluster and is attempting to remediate the configuration with a host profile. 
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Which option would the administrator select on the host before it can be remediated with an existing host profile?
(Choose the best answer.) 

A. Export Host Customizations 

B. Export Host Profile 

C. Attach Host Profile 

D. Copy Settings from Host 

Correct Answer: C 

 

QUESTION 3

An administrator receives reports from the application team of poor performance of a virtual ma-chine (VM). The
administrator reviews the virtual machine and discovers that it has 20 snapshots that are over 12 months old. 

What could the administrator do to improve the VM\\'s performance? 

A. Inflate the base disk to make space for future snapshots. 

B. Revert to the latest snapshot. 

C. Consolidate all of the snapshots into the base VM. 

D. Identify and delete the largest delta .vmdk file. 

Correct Answer: C 

https://4sysops.com/archives/performance-impact-of-snapshots-in-vmware-vsphere-
7/#:~:text=As%20you%20know%2C%20snapshots%20affect,time%20you%20took%20the %20snapshot. 

 

QUESTION 4

An administrator is tasked with looking into the disaster recovery (DR) options for a software-defined data center
(SDDC). 

The following requirements must be met: 

All virtual machines (VMs) must be protected to a secondary site. 

The source VMs must remain online until the failover. 

When failing over to the secondary site, application downtime is allowed 

The DR failover must be managed from the vSphere Client. 

Costs must remain as low as possible. 

How can the administrator accomplish this task? 

A. Configure VMware Cloud Disaster Recovery (VCDR) and combine it with array-based storage replication 
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B. Configure VMware a Site Recovery Manager and combine it with vSphere Replication. 

C. Configure a subscribed content library on the secondary site. 

D. Configure VMware Site Recovery Manager and combine it with array-based storage replication. 

Correct Answer: B 

Explanation: https://blogs.vmware.com/virtualblocks/2017/11/29/vsr-technicaloverview/ 

 

QUESTION 5

An IT department is experiencing random hardware failures that are costing the company money. The CIO is looking for
technical support beyond traditional break/fix with enhanced visibility and proactive insights into the environment at no
additional cost. 

Which VMware service meets the needs of the CIO? (Choose the best answer.) 

A. VMware Global Support Services 

B. VMware Premier Support 

C. VMware Skyline 

D. vRealize Operations Manager 

Correct Answer: C 

Reference: 

https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/support/ vmware_skyline_solution_overview.pdf 
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